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. [10%] Find the general solution of the ODE y’ —y = 4.

. [10%)] Find the particular solution of the ODE xy’ + 4y = 8x*,y(1) = 2.

. [20%] Find the solution set of the ODE y” — 3y’ —4y = 0,y(0) =1 and y'(0) = 2.
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. [20%] Let A = [D E] and its inverse A7 = [Z U],where B, C, D, E are all known

matrices. Please evaluate X and U.

—2w+x—y=1

w—2x+z=-5

w—2y+z=-7
x+y—-2z=7

. [20%] Using the Cramer’s rule to solve the linear system for which

. [20%] Please derive the Fourier series for any period, i.e., p = 2L, based on the Fourier series for
p = 2m, and derive the corresponding Euler formulas for Fourier coefficients using the orthogonality

of the trigonometric system.




